
MT-07 Belly Pan Fitting instructions 

Part # 22136 

Kit includes:- 

2 x Belly Pan Brackets  

4 x M6 X 16 Allen Bolts 

4 x M6 Plastic Washers 

4 x M6 Steel washers  

4 x M6 Ny-lock nuts  

CFK22136 

CBOLM60008 

CWASM60003 

CWASM60001 

CNUTM60003

We recommend the use of a paddock stand if 

available, although not essential. 

Attach the left (fig1) and right (fig2) brackets as 

shown in pictures.  

Make sure the O ring is placed on the bolt as shown in 

Fig 3 before fully securing the right (fig 2) hand side 

bracket. 

Lay a sizable piece of cardboard or cloth underneath 
the motorbike to rest the belly pan on to help avoid 
scratching or damaging the item 

Using the bolts and washers provided attach the belly 

pan to the brackets, do not tighten until all bolts have 

been put into place.   

Fig 1 

Fig 2 

Fig 3 


